Lattice Multiplication (H)

Use lattice multiplication to find each product.

6 4 6 6 1 9 1 1
9 4
1 4
6466 x 91 = 1911 x 44 =
4 3 3 0 7 4 5 7
3 3
9 9
4330 x 39 = 7457 x 39 =
4 3 6 2 7 6 6 5
5 4
6 0
4362 x 56 = 7665 x 40 =
7 1 9 1 2 9 6 3
6 7
1 3
7191 x 61 = 2963 x 73 =
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Lattice Multiplication (H) Answers

Use lattice multiplication to find each product.

6 4 6 6 19 1 1
5713 15 775 /) 0 T3 /To /1o 1 4
s, 4,6, 4 4 o 4, 6/ 4,/ 4
0 10 /10 /10 /1, 013 /10 710 4
8, 6l 4,/ 6,/ 6 8, 4/ o/ 4/ 4
§ 4 0 6 4 0 8 4
6466 x 91 = 588,406 1911 x 44 = 84,084
4 3 3 0 74 5 7
110 10 710 A 4 2 T T2 4
1, 2, 9, 9,0 o, 1, 2 5
3 12 12 710 ] 6 /13 /14 /16 /] 9
o, o,/ 1,/ 1/ 0 o, 3, 6/ 5, 3
§ 8 7 0 0 8§ 2 3
4330 x 39 = 168,870 7457 x 39 = 290,823
4 3 6 2 7 6 6 5
2 U3 AT s 2 12 2 A2,
2 0/ 5, 00 3,84 4 0
2> T3 AT 6 0 10 710 /10 /]
a4/ 8 6 2 o, o,/ o/ 0,0
4 2 71 2 6 6 0 0
4362 x 56 = 244,272 7665 x 40 = 306,600
71 9 1 2 9 6 3
2 10 5 770 A 6 L T6e 14 12 A 4
4, 217 6 4 6 2 4 3 2 ]
0 10 710 /10 ], 02 110 /] 5
3V a1 9 1 o,/ 1,/ 8, 9
§ 6 5 |1 6 2 9 9
7191 x 61 = 438,651 2963 x 73 = 216,299
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